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Solve the following :

1
(i) ‘gof
1 2 3
@ 3 (b) 7 © 3
B B
(ii) 40
,2 by A 8
(a) 9 (&) 7 () 3

Multiply the fractions and reduce it to the lowest form (If possible) :

R s L1 i 12,3
i) ; X 9 (i) 3 ¥ 3 (iii) 27 ® 9
7 B g LI, o g

Wy 5 %3 M o0 %7 M) x5

Multiply the following fractions :

5 B el o L.s2 a5 i
i) 2x 3 (ir) 7><.3 iif) 6)(
sl sl ,2 45 sl gl

(iv) 3 X 4 (v) 3 ><_8 (vi) 33 X 3

Fractions and Decimals 31

Which fraction is greater in the following fractions ?

S3..2 5 .3 1 6 1 4
(i) 207(“208 (ir) 2050r305

| 2
If the speed of a car is 105; km/hr, find the distance covered by it in 3 3 hours.

3 8
The length of a rectangular plot of land is 29; m. If its breadth is 12 m find its area.

1 1
If a cloth costs ¥ 120 Z per metre, find the cost 0f4"i metre of this cloth.

Multiple choice questions :

s LB
(i) % g 3 is
8 2
(a) = (h) 1 () 3 (d) 1
a 3.2,
(ii) 5 X 3 =!
1 b é ; 3 d 9
(@) (b) 5 (©) (d) 5

(iif) 'The value of the product of two proper fractions is :
(a)  greater than both of the proper fractions.
(b) lesser than both of the proper fractions.
(c) lie between the given two fractions.
() none of these
Check if the following equations are ‘True’ or ‘False’ :-

(i l2 42 4£‘7T / Fals
i) 3 X 7 =45 7 (True/ False)
1 s z 2 3‘?'T / Fal

(i) 4x3_3x4.(rue alse)
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